Pollen Indicator Five

Data sources for this indicator->

e For each pollen source and/or species, calculate the mean daily pollen count by taking the
sum of all of the daily counts for the entire season (numerator) and dividing by the number of
days for which readings are available (denominator). Find the minimum and maximum of the
daily pollen counts for the pollen season.

1. Average pollen counts

1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Total 150.0 223.8 83.2 939 601 840 1048 57.8 76.5 110.7 156.7 120.0 131.3 243.2 236.1 126.9
Trees 130.8 198.1 69.6 81.0 495 69.2 872 504 648 952 1431 98.0 112.8 2245 206.2 104.7
Grass 7.3 163 64 40 5.5 6.5 8.4 5.7 5.2 5.4 9.2 139 119 133 222 14.2

Weeds 11.0 9.4 7.0 8.9 5.1 8.3 8.9 3.6 6.5 9.8 4.3 6.5 6.6 54 7.7 8.1
Ragweed 8.8 5.8 5.1 3.1 3.8 6.4 5.0 1.8 3.6 6.5 3.5 4.6 5.1 4.2 4.7 6.5

Mean Pollen Grains by Type and Year
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Log Transformed

1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Total 218 235 192 197 178 192 202 176 188 204 220 208 212 239 237 210
Trees 212 230 184 191 169 184 194 170 181 198 216 199 205 235 231 202
Grass 086 121 081 060 0.74 082 092 076 0.72 0.73 09 114 1.07 112 135 1.15

Weeds 104 097 08 095 071 092 095 055 081 099 064 081 082 074 0.89 091
Ragweed 094 0.76 0.71 049 057 081 070 0.26 056 081 054 066 0.71 062 0.67 0.82
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2. Minimum pollen counts

1997 1998 1999 2000 2001

2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Total 0 0 0 0 0
Trees 0 0 0 0 0
Grass 0 0 0 0 0
Weeds 0 0 0 0 0
Ragweed 0 0 0 0 0
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3. Maximum pollen counts

1997 1998 1999 2000 2001

2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Total 2037 2357 1477 1397 1220
Trees 2029 2357 1439 1397 1212
Grass 80 217 144 48 82
Weeds 140 85 92 311 80
Ragweed 123 81 85 79 74

1501 1619 825 866 1183 1785 4005 2310 2322 3006 2411
1498 1596 881 825 1163 1700 3483 2295 2314 2857 2261
97 120 94 47 70 126 161 120 115 172 150
94 89 38 97 98 102 107 97 75 111 118
88 87 33 79 91 102 94 94 73 102 112
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Maximum Pollen Grains by Type and Year
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Log Transformed
1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012
Total 331 337 3.17 3.15 3.09 3.18 3.21 292 294 307 325 360 336 337 3.48 338
Trees 331 337 316 3.15 3.08 3.18 320 294 292 307 323 354 336 336 346 3.35
Grass 190 234 216 168 191 199 2.08 197 167 185 210 221 2.08 2.06 224 218
Weeds 215 193 196 249 19 197 195 158 199 199 201 203 199 188 205 2.07
Ragweed 2.09 191 193 190 187 194 194 152 190 196 2.01 197 197 186 2.01 2.05
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